Cost Concepts Classifications
[image: The purposes of Cost Classification are matched with the cost classifications for each.  Assigning costs to cost objects include Direct and Indirect costs. Accounting for costs in manufacturing companies include Manufacturing, Direct materials, Direct labor, Manufacturing overhead, Nonmanufacturing, Selling, and Administrative costs. Preparing financial statements include Product and Period costs. Predicting cost behavior in response to changes in activity include Variable, Fixed, and Mixed costs. Making decisions are Differential, Sunk, and Opportunity costs.]
	Summary of Variable and Fixed Cost Behavior


[image: It summarizes the behavior of variable and fixed costs. The main points as follows. Total variable cost increases and decreases in proportion to changes in the activity level. Variable cost per unit remains constant. Total fixed cost is not affected by changes in the activity level within the relevant range. Fixed cost per unit decreases as the activity level rises and increases as the activity level falls.]


Steps for Hi Lo
1.  Determine variable costs per unit
a. Identify the period with the lowest level and highest level of activity. 
b. Identify the costs associated with the lowest level and highest level of activity. 
c. In the numerator (top) subtract the lowest level activity cost from the highest activity level cost
d. In the denominator (bottom) subtract the lowest level of activity from the highest.
2. Take either the high level total cost and subtract the product of the variable cost per unit times the activity level at the high point
3. The remainder will be the fixed portion of the mixed cost.
4. The formula can then be restated as Total cost = fixed + variable cost per unit (x volume) for future planning or decision making. 
[image: ]



Contribution Format Income Statement
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Differential Analysis
Relevant v Irrelevant
In general, ask
1. What costs are associated with each alternative = potentially relevant
2. Is the cost common to both alternatives? Yes = Irrelevant   No = Relevant
	Adding and Dropping Product Lines and Other Segments 
	 


Step 1: Calculate the contribution margin that would disappear if the segment is dropped. Put this number in parentheses to denote it as a negative number.
Step 2: Calculate the fixed costs that would be avoided (relevant) if the segment is dropped. Do not put this number in parentheses.  This number will be added as an offset to the loss of the contribution margin.
Step 3: Add the amounts from steps 1 and 2. If the result is a negative number, then do not drop the segment. If it is a positive number, then choose to drop the segment
The Make or Buy Decision 
Step 1: Calculate the total amount that would be paid to the supplier if the buy option is chosen.
Step 2: Calculate the total differential manufacturing costs. These are the variable manufacturing costs and traceable fixed manufacturing costs that will be incurred if the company chooses to make, but avoided if the company chooses to buy.
Step 3: Calculate the difference between the amounts from steps 1 and 2. If the amount from step 1 exceeds the amount from step 2, then choose the make option. If the amount from step 1 is less than the amount from step 2, then choose the buy option.
Special Orders 
Step 1: Calculate the total revenue generated by the special order.
Step 2: Calculate the total incremental costs that will be incurred to produce the special order.
Step 3: Take the amount in step 1 and subtract from it the amount in step 2. If the result is a positive number, then accept the special order. If it is a negative number, then reject the special order.


Utilization Of A Constrained Resource
Step 1: Calculate each product's contribution margin per unit.
Step 2: Identify the constraining resource and the quantity of that resource that is consumed to make one unit of each product.
Step 3: Calculate each product's contribution margin per unit of the constraining resource.
Step 4: Rank the products from the highest contribution margin per unit of the constraining resource to the lowest.

Sell or Process Further Decisions 
Step 1: Calculate the sales value if processed further minus the sales value at the split-off point.
Step 2: Determine the cost of further processing beyond the split-off point.
Step 3: Take the amount in step 1 and subtract from it the amount in step 2. If the result is a positive number, then choose to process further. If it is a negative number, then choose to sell at the split-off point.



Flexible Budget
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Standard Costs
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Process Costing
[image: ]
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Standard Costs - Direct Materials Difference Between Amt Purchased and Used in Production

Legend Total Standard Qty = SQ (Equals Units Produced times Standard Quantity per Unit from Cost Card)

Standard Price = SP

Total Actual Quantity PurchasedAQP

Total Actual Quantity = AQ

Actual Price = AP

Standard (Flex) Actual

SQ Compare AQ/AQP AQP

x x x

SP SP Compare AP

DM Quantity Var DM Price Variance
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Standard Costs - Direct Labor

Legend Total Standard Hrs  = SH (Equals Units Produced times Standard Hours per Unit from Cost Card)

Standard Rate = SR

Total Actual Hours = AH

Actual Rate = AR

Standard (Flex) Actual

SH Compare AH AH

x x x

SR SR Compare AR

DL Efficiency Var DL Rate Variance
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Units

DM Conversion
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Ending WIP
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Ending WIP (Units x % Complete) DM

(Units x % Complete) Conv

EUP

Beginning Costs: DM Conversion

Beginning WIP Costs

=

Costs added during month

=

Costs to be accounted for

=
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EUP

Cost per 

EUP

Ending Costs: DM Conversion

Transferred out units

x x

Cost per 

EUP

Total Costs Transferred out 

=

Ending WIP units

x x

Cost per 

EUP

Total Costs Ending WIP

=

Total costs accounted for

Percentage Complete

Caculation of Weighted Avg 

Equivalent Units of Production (EUP)

Cost Reconciliation

 Cost per Equivalent Unit of 
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Value per Equivalent Unit of 
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Purpose of Cost Classification

Assigning costs to cost objects

Accounting for costs in manufacturing
‘companies

Preparing financial statements

Precicting cost behavior in response
to changes i activity

Making decisions

Gost Classifications

* Direct cost (can bs sasily traced)
*  Indirect cost (cannot be easly traced)

* Manufacturing costs
+ Direct materiale
« Direct labor
+ Manufacturing overhead
* Nonmanufacturing costs.
+ Seling costs
+ Adminisirative costs

* Product costs (inventoriable)
* Period costs (expensed)

« Variable cost (proportional to activty)
+ Fixed cost (constant n total)
* Mixed cost (has variable and fixed slements)

* Difierential cost ciffers bstween ahternatives)
+ Sunk cost (should be ignored)
« Opportunity cost (foregone benefit)
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Behavior of the Cost (within the relevant range)

Cost In Total Per Unit
Variable cost  Total variable cost increases Variable cost per unit
and decreases in proportion remains constant.
to changes in the activity level.
Fixed cost  Total fixed cost is not affected  Fixed cost per unit
by changes in the activity decreases as the activity
level within the relevant range.  level rises and increases

as the activity level falls.




image3.png
Activity Level: ~ Maintenance

Month Patient-Days  Cost Incurred
January 5600 7,900
February 7,100 $8,500
March . 5,000 $7,400
April 6,500 $8.200
May . 7,300 $9,100
June . 8,000 $9,800
July . 6,200 7,600

Formula isY =A +B(A)
orTotal cost = Fixed costs + Variable cost (Volume)

First solve for B - variable cost

Costs are in the numerator and volume in the denominator
__ 52400
3,000 = 80cents
Then solve for A - You already have total costs

For the highest volume - $9,800 = A +.8(8,000) or $3,400
For the lowest volume - $7,400 = A + .8(5,000) or $3,400
(Be sure to match the costs and the volumes in calcuating A)

Now, you have a predictive model of
¥=$3,400 + 8(x)
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Total Dollars Per Unit Ratios

Sales S 1,365 5.00 100%
-Variable Costs v 820 3.00 60%
Contribution Margin M 545 2.00 40%
-Fixed Costs -F 545

Profit 0
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Cost Volume Profit - Summary Document

Variable Expense ratio  Variable Expenses divided by Total Sales (either in total or per unit)
Contribution Margin ratio Contribution Margin divided by Total Sales  (either in total or per unit)

Breakeven units Fixed costs divided by contribution margin per unit

Breakeven sales Fixed costs divided by contribution margin ratio

Target Profit units Fixed costs plus Target Profit divided by contribution margin per unit
Target Profit sales Fixed costs plus Target Profit divided by contribution margin ratio
Safety Margindollars  Total sales minus Breakeven sales

Safety Margin percentage Total sales minus Breakeven sales divided by Total sales

Over BE - Increase in profits
Units Unit increase times contribution margin per unit
Sales Sales increase times conribution margin ratio

Increase in fixed costs with an increase in sales
Sales increase times CM ratio less additional fixed costs

Increase in variable costs with an increase in units
Increase in units sold times new CM per unit minus previous units sold times previous CM per unit




